ADVERTISEMENT FOR BIDS

Wood Creek Water District will be accepting sealed bids for the supply and delivery of:

Various sizes and amounts of Ford Meter Box brass and steel products

Specifications may be obtained by contacting Juh-Rawn Napier at (800) 551-7965 Ext. 203 or by visiting www.woodcreekwater.org. Sealed Bids may be mailed to or placed at the District Office at: 1670 E. Hal Rogers Parkway, London KY 40741.

Business hours are Monday thru Friday from 8:00 AM to 4:30 PM. Bids may be placed until bid opening at 3:00 PM Monday September 19, 2022.

The District reserves the right to waive any informalities and/or to reject or accept any and all bids. Bids will be awarded to the lowest overall bid.

Quantity	Item
200	Ford 3/4" Meter Setter (VH72-7W-41-33-G-NL)
30	Ford 5/8" x 3/4" - 15" Rise Meter Resetter (VH42-15W-NL)
30	Ford S Tube for Tandem Setters 5/8" x 3/4" (ST-2)
50	Ford 3/4" x 2" PVC Saddle w/ AWWA Tap (S70-203 Design A)
100	Ford 3/4" x 4" PVC Saddle w/ AWWA Tap (S70-403 Design A)
50	Ford 3/4" x 6" PVC Saddle w/ AWWA Tap (S70-603 Design A)
50	Ford 1 1/2" x 2" PVC Saddle w/ IP Tap (S71-206 Design B)
20	Ford 2" x 4" PVC Saddle w/ AWWA Tap (S70-407 Design A)
20	Ford 2" x 6" PVC Saddle w/ AWWA Tap (S70-607 Design A)
100	Ford 3/4" CTS Curb Stop (B-44-333-G-NL)
100	Ford 3/4" CTS Tee (T444-333-G-NL)
40	Ford 3/4" CTS x 1" PEP Repair Coupling (C-46-34-G-NL)
100	Ford 3/4" MIP x 3/4" CTS Coupling (C84-33-G-NL)
100	Ford 3/4" MIP x 3/4" PEP Coupling (C86-33-G-NL)
20	Ford 3/4" FIP x 1" PEP Coupling (C16-34-G-NL)
100	Ford 3/4" FIP x 3/4" PEP Coupling (C16-33-G-NL)
100	Ford 1 1/2" Corp Stop (MIP x P.J. Compression) (FB1102-6-NL)
30	Ford 2" MIP Inlet x FIP Outlet Corp Stop (FB1700-7-NL)
30	Ford 2" AWWA Tap Inlet x FIP Outlet Corp Stop (FB1600-7-NL)
30	Ford Angle Single Check Valve (HA31-323-SN-NL)
3	Ford 6" x 6" Stainless Steel PVC/DI Tapping Band (FTSS Style) (FTSS-700-6)
2	Ford 8" x 4" Stainless Steel PVC/DI Tapping Band (FTSS Style) (FTSS-905-4)
6	Ford 8" x 6" Stainless Steel PVC/DI Tapping Band (FTSS Style) (FTSS-905-6)
1	Ford 12" x 6" Stainless Steel PVC/DI Tapping Band (FTSS Style) (FTSS-1320-6)
10	Ford 4" x 15" AC Repair Clamp (F1 Style) w/ Long Starter Bolt (F1-535-15-A)
3	Ford 4" x 30" AC Repair Clamp (F1 Style) w/ Long Starter Bolt (F1-535-30-A)
4	Ford 8" x 15" AC Repair Clamp (F1 Style) w/ Long Starter Bolt (F1-967-15-A)
2	Ford 8" x 30" AC Repair Clamp (F1 Style) w/ Long Starter Bolt (F1-967-30-A)
4	Ford 8" x 15" DI Repair Clamp (F1 Style) w/ Long Starter Bolt (F1-939-15-A)
3	Ford 8" x 30" DI Repair Clamp (F1 Style) w/ Long Starter Bolt (F1-939-30-A)
3	Ford 10" x 30" DI Repair Clamp (F1 Style) w/ Long Starter Bolt (F1-1144-30-A)

- ¹ Bid will be awarded to the overall lowest total bid.
- ² All bids shall include the brand of material, unit cost, and total cost
- 3 Supplier shall provide The District with availability information and estimated delivery of said material
- ⁴ Bids shall include any and all applicable taxes, fees, charges, and shipping costs.
- 5 Must comply with all AWWA and Water District standards.
- ⁶ Wood Creek Water District reserves the right to wave any informalities and/or to reject or accept any or all bids.

I, Teton Juh-Rawn Napier certify that on Wednesday, September 7rd, 2022 I posted the following Advertisement for Bid on http://www.woodcreekwater.org/ https://www.woodcreekwater.org/ https://www.



Advertisement for Bid

September 07, 2022

Wood Creek Water District will be accepting sealed bids for the supply and delivery of,

Various sizes and amounts of Ford Meter Box brass and steel products.

Specifications may be obtained by contacting Juh-Rawn Napier at (800) 551-7965 Ext. 203 or by clicking **HERE**.

Sealed bids may be mailed to or placed at the District Office at: 1670 E. Hal Rogers Parkway, London, KY 40741.

Business hours are Monday thru Friday from 8:00 AM to 4:30 PM. Bids may be placed until bid opening at 3:00 PM Monday September 19, 2022.

The District reserves the right to waive any informalities and/or to reject or accept any and all bids. Bids will be awarded to the lowest overall bid.

Click for ADVERTISEMENT FOR BID Document

Click for Bid Specifications Document

Print: Teton Juh-Rawn Napier

Sign: _____ Date: ___ September 19, 2022

Wood Creek Water District will be accepting sealed bids for the supply and delivery Various sizes and amounts of Ford Meter Box brass and steel products.

Specifications may obtained by contacting Juh-Rawn Napier at (800) 551-7965 Ext. 203 or by visiting www.woodcreekwater.org. Sealed Bids may be mailed to or placed at the District Office at: 1670 E. Hal Rogers Parkway, London, KY 40741. Business hours are Monday thru Friday from 8:00 AM to 4:30 PM. Bids my be placed until bid opening at 3:00 PM Monday September 15, 2022.

The District reserves the right to waive any informalities and /or to reject or accept any and all bids. Bids will be awarded to the lowest overall bid.

1995

SALE

FOR

Pro-

From: **Teton Juh-Rawn Napier**

To:

Consolidated Pipe (Bryan Melcher); Core & Main (Cerrie, Mark); Core & Main (White, Darrell); Ferguson Waterworks (Petersen, Kyle); G&C Supply (Coulter, Taylor); G&C Supply (Phillips, Dusty); Hayes Pipe & Supply

(Pelfrey, Troy); Hayes Pipe Supply (Novak, George)

Cc: JuhRawn@woodcreekwater.org

Subject: Wood Creek Water District - Advertisement for Bid Date: Tuesday, September 6, 2022 10:33:21 PM

image002.png **Attachments:**

Gentlemen,

I have issued an advertisement for bid on Ford Meter Box materials. You can find the advertisement and specs on our website at http://www.woodcreekwater.com

Remember, this is a sealed bid. I can only accept bids that have been hand delivered to the office or mailed to the office. I know last time a couple of people got confused and didn't realize it.

Also please put "Attention: Juh-Rawn Napier" and state that it is a sealed bid on the outside of the envelope if you mail it in.

Thanks,

Teton Juh-Rawn Napier

Wood Creek Water District

1670 E Hal Rogers Pkwy London, KY 40741

JuhRawn@woodcreekwater.org

Office: (800) 551-7965 Ext. 203

Cell: (606) 682-3593



NOTICE:

Legally privileged and confidential information may be contained in this message and is intended only for the use of the individual or entity to whom it is addressed. Any dissemination, distribution, printing or copying of this material by anyone other than the intended recipient is strictly prohibited. If you have received this communication in error, please notify Wood Creek Water District immediately at (800) 551-7965 or JuhRawn@woodcreekwater.org.

From: **Teton Juh-Rawn Napier**

To:

JuhRawn@woodcreekwater.org; "Consolidated Pipe (Bryan Melcher)"; "Core & Main (Cerrie, Mark)"; "Core & Main (White, Darrell)"; "Ferguson Waterworks (Petersen, Kyle)"; "G&C Supply (Coulter, Taylor)"; "G&C Supply (Phillips, Dusty)"; "Hayes Pipe & Supply (Pelfrey, Troy)"; "Hayes Pipe Supply (Novak, George)"

Subject: RE: Wood Creek Water District - Advertisement for Bid *Adjustment*

Date: Wednesday, September 14, 2022 3:01:46 PM

Attachments: image001.png image003.png

Hello All,

I know most if not everyone has been delayed getting their pricing back from Ford. Due to this, we are extending the deadline to have sealed bids turned in to Monday, September 19th, 2022 at 3:00 pm EDT

Thanks.

Teton Juh-Rawn Napier

Wood Creek Water District

1670 E Hal Rogers Pkwy London, KY 40741

JuhRawn@woodcreekwater.org

Office: (800) 551-7965 Ext. 203

Cell: (606) 682-3593



Legally privileged and confidential information may be contained in this message and is intended only for the use of the individual or entity to whom it is addressed. Any dissemination, distribution, printing or copying of this material by anyone other than the intended recipient is strictly prohibited. If you have received this communication in error, please notify Wood Creek Water District immediately at (800) 551-7965 or JuhRawn@woodcreekwater.org.

From: Teton Juh-Rawn Napier < juhrawn@woodcreekwater.org>

Sent: Tuesday, September 6, 2022 10:33 PM

To: Consolidated Pipe (Bryan Melcher) <Bryan.Melcher@cpspipe.com>; Core & Main (Cerrie, Mark)

<mark.cerrie@coreandmain.com>; Core & Main (White, Darrell)

<Darrell.White@coreandmain.com>; Ferguson Waterworks (Petersen, Kyle)

<Kyle.Petersen@Ferguson.com>; G&C Supply (Coulter, Taylor) <tcoulter@gcsupplyco.com>; G&C

Supply (Phillips, Dusty) <dphillips@gcsupplyco.com>; Hayes Pipe & Supply (Pelfrey, Troy)

<tpelfrey@hayespipe.com>; Hayes Pipe Supply (Novak, George) <gnovak@hayespipe.com>

Cc: JuhRawn@woodcreekwater.org

Subject: Wood Creek Water District - Advertisement for Bid

Gentlemen,

I have issued an advertisement for bid on Ford Meter Box materials. You can find the advertisement and specs on our website at http://www.woodcreekwater.com

Remember, this is a sealed bid. I can only accept bids that have been hand delivered to the office or mailed to the office. I know last time a couple of people got confused and didn't realize it.

Also please put "Attention: Juh-Rawn Napier" and state that it is a sealed bid on the outside of the envelope if you mail it in.

Thanks,

Teton Juh-Rawn Napier

Wood Creek Water District

1670 E Hal Rogers Pkwy

London, KY 40741

JuhRawn@woodcreekwater.org

Office: (800) 551-7965 Ext. 203

Cell: (606) 682-3593



NOTICE

Legally privileged and confidential information may be contained in this message and is intended only for the use of the individual or entity to whom it is addressed. Any dissemination, distribution, printing or copying of this material by anyone other than the intended recipient is strictly prohibited. If you have received this communication in error, please notify Wood Creek Water District immediately at (800) 551-7965 or juhRawn@woodcreekwater.org.

From: <u>Teton Juh-Rawn Napier</u>

To: <u>Core & Main (White, Darrell)</u>; <u>Core & Main (Cerrie, Mark)</u>

Cc: <u>JuhRawn@woodcreekwater.org</u>

Subject: Wood Creek Water District Sealed Bid - Ford Brass & Steel Products

Date: Monday, September 19, 2022 11:50:54 PM

Attachments: <u>image001.png</u>

Darrell & Mark,

This email is acknowledgement that Core & Main's Bid # 2524111 for Wood Creek Water District's sealed bid that closed on September 19, 2022 was the lowest bid and was accepted.

Let this email serve as approval to process Core & Main Bid # 2524111 in the amount of, \$115,817.26

Thanks,

Teton Juh-Rawn Napier

Wood Creek Water District

1670 E Hal Rogers Pkwy London, KY 40741

JuhRawn@woodcreekwater.org

Office: (800) 551-7965 Ext. 203

Cell: (606) 682-3593



NOTICE

Legally privileged and confidential information may be contained in this message and is intended only for the use of the individual or entity to whom it is addressed. Any dissemination, distribution, printing or copying of this material by anyone other than the intended recipient is strictly prohibited. If you have received this communication in error, please notify Wood Creek Water District immediately at (800) 551-7965 or JuhRawn@woodcreekwater.org.

Bid Tabulations
Wood Creek Water District
9/19/2022 @ 1500 hrs

Ford Brass & Steel Products

Name of Bidder	Bid Price	Comments
Consolidated Pipe Supply	\$144,390,4	
✓ Core & Main	\$115,817.26	\sim
Ferguson Waterworks	\$131,746.9	
G&C Supply	\$129,325.99	
Hayes Pipe Supply	\$	NO BED RECEIVED
	\$	
	\$	
	\$	
	\$	
	\$	

Name (Print): IETON 5. NAPER	Witness Name (Print):
Name (Sign):	Witness Name (Sign):
Date: \$9/19/2\$22@152\$	Date:



Bid Proposal for WOOD CREEK WATER DISTRICT FORD BRASS SEALED BID

WOOD CREEK WATER DISTRICT

5600 North US25

EAST BERNSTADT, KY 40729

Contact: Teton Juh-Rawn Napier

(T) (606) 682-3593

JuhRawn@woodcreek.org

Job

WOOD CREEK WATER DISTRICT FORD BRASS

SEALED BID

Bid Date: 09/30/2022 03:00 pm

Bid #: 2524111

Sales Representative

Darrell White

(M) 859-797-2044

(T) 859-253-3464

(F) 859-253-0848

Darrell.White@coreandmain.com

Core & Main

2141 Christian Rd Lexington, KY 40509

(T) 859-253-3464

NOTES

CUSTOMER



Bid Proposal for WOOD CREEK WATER DISTRICT FORD BRASS SEALED BID

WOOD CREEK WATER DISTRICT

Bid Date: 09/30/2022 03:00 pm

Core & Main 2524111

Core & Main 2141 Christian Rd Lexington, KY 40509

Fax: 859-253-0848

Phone: 859-253-3464

Seq#	Qty	Description	Units	Price	Ext Price
		DUE TO CURRENT SUPPLY CHAIN DISRUPTIONS, MATERIALS			
		ARE SUBJECT TO PRICING AT TIME OF SHIPMENT. MATERIAL			
		AVAILABILITY AND TIMELINESS OF SHIPMENTS CANNOT BE			
	<u> </u>	GUARANTEED. THIS TERM SUPERSEDES ALL OTHER			
		CONTRACTUAL PROVISIONS.			
10	200	VH72-7W-41-33-G-NL 5/8X3/4 STR	EA	146.20	29,240.00
20	30	VH42-15WNL RESETTER W/CHK 5/8X 3/4 (NO LEAD)	EA	142.55	4,276.50
30	30	ST-2 5/8X3/4 "S"TUBE F/TANDUM	EA	43.68	1,310.40
40	50	S70-203 2X3/4CC BRS SAD 2.38 OD	EA	21.82	1,091.00
50	100	2000 AND 100 CONTROL OF THE PROPERTY OF THE PR	EA	33.88	3,388.00
60	50	S70-603 6X3/4CC BRS SAD 6.63 OD	EA	50.54	2,527.00
70	50	S71-206 2X1-1/2IP SAD 2.38 OD	EA	53.64	2,682.00
80	20	S70-407 4X2CC BRS SAD 4.50 OD	EA	72.96	1,459.20
90	20	S70-607 6X2CC BRS SAD 6.63 OD	EA	95.37	1,907.40
100	100		EA	71.33	7,133.00
110	100		EA	47.59	4,759.00
120	40	C46-34GNL 3/4X1 GJ(CTS)XGJ(PE) (NO LEAD)	EA	37.12	1,484.80
130		C84-33GNL 3/4 CPLG MIPXGJCTS (NO LEAD)	EA	16.15	1,615.00
140	100	C86-33GNL 3/4 CPLG MIPXGJ(PEP) F-IPS TUBING (NO LEAD)	EA	21.38	2,138.00
150	20	C16-34GNL 3/4X1 CPLG FIPXGJ (PE) (NO LEAD)	EA	29.10	582.00
160		C16-33GNL 3/4 CPLG FIPXGJ	EA	20.95	2,095.00
170	100	(A)	EA	186.86	18,686.00
180	30	FB1700-7NL 2 BALLCORP MIPXFIP NO LEAD	EA	240.33	7,209.90
190	30	FB1600-7NL 2 BALL CORP CCXFIP NO LEAD	EA	240.33	7,209.90
200	30	HA31-323-SN-NL ANGL SNGL CHK S	EA	37.01	1,110.30
210	3	FTSS-700-6 6X6 SS TAP SLV SS FLG 6.63-7.00 OD	EA	643.17	1,929.53
220	2	FTSS-905-4 8X4 SS TAP SLV SS FLG 8.63-9.05 OD	EA	639.48	1,278.9
230	6	FTSS-905-6 8X6 SS TAP SLV SS FLG 8.63-9.05 OD	EA	691.85	4,151.10
240	1	FTSS-1320-6 12X6 SS TAP SLV SS FLG 12.75-13.20 OD	EA	784.84	784.84
250	10	F1-535-15-A 4X15 REP CLP W/LNG	· EA	116.90	1,169.00
260	3	F1-535-30-A 4X30 REP CLP W/LNG	EA	239.06	717.18
270	4	F1-967-15-A 8X15 REP CLP W/LNG	EA	146.88	587.52
280	2	F1-967-30-A 8X30 REP CLP W/LNG	EA	328.56	657.1
290	4	F1-939-15-A 8X15 REP CLP W/LNG	EA	150.99	603.90
300	3	F1-939-30-A 8X30 REP CLP W/LNG	EA	337.42	1,012.2



Bid Proposal for WOOD CREEK WATER DISTRICT FORD BRASS SEALED BID

Bid #: 2524111

Seq#	Qty	Description	Units	Price	Ext Price
310	3	F1-1144-30-A 10X30 REP CLP W/L	EA	340.47	1,021.41
310			en kananina kananina kananina sara kanakan saran da sarana w an masan kanan kanan saran saran kanan kanan sara	Sub Total	115,817.26
			AMAN AND AND AND AND AND AND AND AND AND A	Tax	0.00
	· · · · · · · · · · · · · · · · · · ·			Total	115,817.26

Branch Terms:

This quote represents our interpretation of the plans & specifications and is offered as an aid to bidding only. Customers should verify all materials & quantities prior to bidding or ordering.

Unless otherwise noted, PVC pipe prices are based on availability at the time of shipping.

HDPE prices are good for 10 days from quote date and price per foot might be revised if quantity changes.

Pricing is subject to change if the scope of the quote is altered, at the discretion of the branch.

Special order material or other non-stock items may be non-refundable or subject to a cancellation/restock charge.

Special order non-stock items must be shipped to customer within 30 days of receipt by Core & Main.

UNLESS OTHERWISE SPECIFIED HEREIN, PRICES QUOTED ARE VALID IF ACCEPTED BY CUSTOMER AND PRODUCTS ARE RELEASED BY CUSTOMER FOR MANUFACTURE WITHIN THIRTY (30) CALENDAR DAYS FROM THE DATE OF THIS QUOTATION. CORE & MAIN LP RESERVES THE RIGHT TO INCREASE PRICES TO ADDRESS FACTORS, INCLUDING BUT NOT LIMITED TO, GOVERNMENT REGULATIONS, TARIFFS, TRANSPORTATION, FUEL AND RAW MATERIAL COSTS. DELIVERY WILL COMMENCE BASED UPON MANUFACTURER LEAD TIMES. ANY MATERIAL DELIVERIES DELAYED BEYOND MANUFACTURER LEAD TIMES MAY BE SUBJECT TO PRICE INCREASES AND/OR APPLICABLE STORAGE FEES. THIS BID PROPOSAL IS CONTINGENT UPON BUYER'S ACCEPTANCE OF SELLER'S TERMS AND CONDITIONS OF SALE, AS MODIFIED FROM TIME TO TIME, WHICH CAN BE FOUND AT: https://coreandmain.com/TandC/



OUOTATION

WATER, SEWER & GAS SUPPLIES SIGN & SAFETY SUPPLIES

P.O. Drawer 459 - 1105 State Route 77 Atwood, TN 38220 (731)662-7193 or (800)238-3836

Order Num	ber
1919390	
Order Date	Page
09/09/2022 09:39:46	1 of 3

Bill To:

WOOD CREEK WATER DISTRICT PO BOX 726 LONDON, KY 40743

Ship To:

WOOD CREEK WATER DISTRICT 5600 NORTH US 25 EAST BERNSTADT, KY 40729

606-878-9420

Customer ID: 111967

		PO Num	ber		Ship Route		Tak	er	
					UTLY		TCOU	LTER	
Q uant Ordered		Status of Balance	Status Key B = Backorder D = Direct C = Canceled	Item ID Item Descrip	tion		Unit Size	Unit Price	Extended Price
		C	ustomer Note:	SALESREP	- DUSTY PHILLI	PS	nila ya casa ka ka ku ka		
200	200			VH72-7W-41 5/8X3/4 FOI GJCTS	I-33-G-NL RD COPPERSETT	ER DP X	EA	164.0500	32,810.00
30	30			NS NON-STOCK VH42-15W-1	X NL 5/8 X 3/4 RES	ETTER	EA	159.9400	4,798.20
30	30			ST-2 S TUBE FOR	R TANDEM SETT	ER 5/8X3/4	EA	49.0000	1,470.00
50	50	`		S70-203 2X3/4CC FC	ORD BRASS SAD	DLE	EA	24.4500	1,222.50
100	100			S70-403 4X3/4CC FC	ORD BRASS SAD	DLE	EA	38.0000	3,800.00
50	50			S70-603 6X3/4CC FC	ORD BRASS SAD	DLE	EA	56.7000	2,835.00
50	50			S71-206 2 X 1 1/2 IP I	FORD BRASS SA	DDLE	EA	60.1500	3,007.50
20	20			S70-407 4X2 CC TAP	SADDLE		EA	81.8500	1,637.00
20	20			S70-607 6X2CC FO	RD BRASS SADI	DLE	EA	107.0100	2,140.20
100	100			B44-333-G-N 3/4 FORD **NO LEAD	BALL VALVE G	CTS X GJCTS	EA	80.0100	8,001.00
100	100			T444-333-G-	·NL		EA	53.4000	5,340.00



QUOTATION

WATER, SEWER & GAS SUPPLIES SIGN & SAFETY SUPPLIES

P.O. Drawer 459 - 1105 State Route 77 Atwood, TN 38220 (731) 662-7193 or (800) 238-3836

Order Num	ber
1919390)
Order Date	Page
09/09/2022 09:39:46	2 of 3

Quant	ities		Status Key B = Backorder	Item ID		Unit	Extended
Ordered	Remaining	Status of Balance	D = Direct C = Canceled	Item Description	Unit Size	Prico	Price
				3/4 FORD BRASS TEE GJCTS X GJCTS X GJCTS **NO LEAD**			
40	40			C46-34-G-NL 3/4X1 FORD BRASS COUPLING GJCTS X GJPEP **NO LEAD**	EA	41.6000	1,664.00
100	100			C84-33-G-NL 3/4 FORD MALE ADAPTER MIPT X GJCTS **NO LEAD**	EA	18.1000	1,810.00
100	100			C86-33-G-NL 3/4 FORD MALE ADAPTER MIPT X GJPEP **NO LEAD**	EA	23.9000	. 2,390.00
20	20			C16-34-G-NL 3/4X1 FORD FEMALE ADAPTER FIPT X GJPEP **NO LEAD**	EA	32.6000	652.00
100	100			C16-33-G-NL 3/4 FORD FEMALE ADAPTER FIPT X GJPEP **NO LEAD**	EA	23.5000	2,350.00
100	100		-	FB1102-6-NL 1-1/2 FORD BALLCORP MIPT X PJPVC **NO LEAD**	EA	209.6500	20,965.00
30	30			FB1700-7-NL 2 FORD BALLCORP MIPT X FIPT **NO LEAD**	EA	269.6000	8,088.00
30	30			FB1600-7-NL 2 FORD BALLCORP CC X FIPT **NO LEAD**	EA	269.0000	8,070.00
30	30			NS NON-STOCK HA31-323-SN-NL 5/8 X 3/4 AND 3/4 ANG CHECK VALVE	EA	41.3000	1,239.00
3	3			FTSS-700-6 6 X 6 FORD ALL STAINLESS TAPPING SLEEVE 6.63-7.00	EA	693.0000	2,079.00
2	2			FTSS-905-4 8 X 4 FORD ALL STAINLESS TAPPING SLEEVE	EA	689.0000	1,378.00
6	6			FTSS-905-6 8 X 6 FORD ALL STAINLESS TAPPING SLEEVE 8.63-9.05	EA	745.0000	4,470.00



QUOTATION

WATER, SEWER & GAS SUPPLIES SIGN & SAFETY SUPPLIES

P.O. Drawer 459 - 1105 State Route 77 Atwood, TN 38220 (731) 662-7193 or (800) 238-3836

Order Num	ber
1919390)
Order Date	Page
09/09/2022 09:39:46	3 of 3

Quanti	ities		Status Key B = Backorder	Item ID		Unit	Extended
Ordered	Remaining	Status of Balance	D = Direct C = Canceled	Item Description	Unit Size	Prico	Price
1	1		•	FTSS-1320-6 12 X 6 FORD TAPPING SLEEVE	EA	844.0000	844.00
10	10			F1-535-15 4C X 15 FORD REPAIR CLAMP	EA	128.8000	1,288.00
3	3			NS NON-STOCK F1-535-30 4 IN REPAIR CLAMP 30 LONG	EA	263.5000	790.50
4			. 000	F1-967-15 8C X 15 FORD FULL CIRCLE REPAIR CLAMP	EA	161.0000	644.00
2 .	2			NS NON-STOCK F1-967-30 8 IN REPAIR CLAMP 30 LONG	EA	354.0000	708.00
4	4			F1-939-15 8B X 15 FORD FULL CIRCLE REPAIR O.D. RANGE 8.99 - 9.39	EA	162.0000	648.00
3	3			F1-939-30 8B X 30 FULL CIRCLE REPAIR CLAMP	EA	363.0000	1,089.00
3	3			F1-1144-30 10B X 30 FORD FULL CIRCLE REPAIR CLAMP	EA	366.0000	1,098.00
Total Li	ines: 31				SUB	-TOTAL: TAX:	129,325.90
					AMOU!	NT DUE: U.S. Dolla	129,325.9 0



FERGUSON WATERWORKS #1491 3726 BISHOP LANE **LOUISVILLE, KY 40218-2904**

Phone: 502-459-9974 Fax: 502-964-6640

Deliver To:		
From:	Kyle Petersen	
Comments	:	

09:54:41 SEP 19 2022

Page 1 of 2

FERGUSON WATERWORKS #1491

Price Quotation Phone: 502-459-9974 Fax: 502-964-6640

Bid No: Bid Date:

Customer:

B212821

09/19/22

Quoted By: KFP

WOOD CREEK WATER DISTRICT

PO BOX 726

LONDON, KY 40743

Cust Phone: 606-878-9420

Terms:

NET 10TH PROX

Ship To:

Cust PO#:

Job Name: 9-19-22 BRASS BUY

Item	Description	Quantity	Net Price	UM	Total
FVH727W4133GNL	LF VH72-7W-41-33-G SN CSTR	200	165.082	EA	33016.40
FVH4215WNL	LF VH42-15W-NL MTR RSTR	30	159.717	EA	4791.51
FST2	5/8 X 3/4 S TUBE W/ SWVL	30	48.364	EA	1450.92
FS70203	2X3/4 CC BRS SDL IPS PV COMMUNICATION AND ADDRESS OF THE STREET	50	23,917	EΑ	1195.85
FS70403	4X3/4 CC BRS SDL IPS PVC	100	35.664	EA	3566.40
FS70603	6X3/4 CC BRS SDL IPS PVC	50	54.900	EA	2745.00
FS71206	S71-206 BRASS SDL	50	58.485	EA	2924.25
FS70407	4X2 CC BRS SDL	20	80.087	EA	1601.74
FS70607	6X2 CC BRS SDL IPS PVC	20	104.332	EA	2086.64
FB44333GNL	LF 3/4 B44-333-G-NL BV	100	80.000	EA	8000.00
FT444333GNL	LF 3/4 CTS GJ COMP TEE	100	53,850	EA	5385.00
FC4634GNL	LF 3/4X1 C46-34-G-NL COUP	40	40.574	EA	1622.96
FC8433GNL	LF 3/4 MIP X 3/4 CTS GJ COMP COUP	100	18.273	EA	1827.30
FC8633GNL	LF 3/4 MIP X GRIP PE COUP	100	24.764	EA	2476.40
FC1634GNL	*CVR* LF 3/4 FIP X 1 PE GRIP COU	20	33.036	EA	660.72
FC1633GNL	LF 3/4 C16-33-G-NL COUP	100	23.723	EA	2372.30
FFB11026NL	LF 1-1/2 MIP X PVC PJ BALL CORP	100	210.295	EA	21029.50
FFB17007NL	LF 2 MIP X FIP BALL CORP	30	272.558	EA	8176.74
FFB16007NL	LF 2 CC X FIP BALL CORP	30	265.247	EA	7957.41
	FHA31-323-SN-NL				
SP-NONSTOCK	SPECIAL ITEM CONSISTING OF	30	41.641	EA	1249,23
FFTSS7006	6X6 SS TAPN SLV 6.63-7.00	3	774.990	EA	2324.97
FFTSS9054	8X4 SS TAPN SLV 8.63-9.05	2	779.435	EA	1558.87
FFTSS9056	8X6 SS TAPN SLV 8.63-9.05	6	794.947	EA	4769.68
FFTSS13206	12X6 SS TAPN SLV 12.75-13.20	1	959.610	EA	959.61
	QTY10- F1-535-15-A				
SP-NONSTOCK	SPECIAL ITEM CONSISTING OF	10	146.586	EA	1465.86
	QTY3- F1-535-30-A				
SP-NONSTOCK	SPECIAL ITEM CONSISTING OF	3	338.787	EA	1016.36
FF196715A	F1-9.67 X 15-A	4	214.915	EA	859.66
	QTY2- F1-967-30-A				000.00
SP-NONSTOCK	SPECIAL ITEM CONSISTING OF	2	443.465	EA	886.93
FF193915A	F1-9.39 X 15-A	4	212.145	EA	848.58
	QTY3- F1-939-30-A	· · · · · · · · · · · · · · · · · · ·			0.0.00
SP-NONSTOCK	SPECIAL ITEM CONSISTING OF	3	437.560	EΑ	1312.68
	QTY3- F1-1144-30-A	9	107.500	·	1012.00





FERGUSON WATERWORKS #1491 Price Quotation

Fax: 502-964-6640

09:54:41 SEP 19 2022 **Reference No:** B212821

Item	Description	Quantity	Net Price	UM	Total	
SP-NONSTOCK	SPECIAL ITEM CONSISTING OF	3	535.537	EA	1606.61	
	7	1	Net Total:		\$131746.08	***************************************
			Tax:		\$0.00	
			Freight:		\$0.00	
			Total:		\$131746.08	

Quoted prices are based upon receipt of the total quantity for immediate shipment (48 hours). SHIPMENTS BEYOND 48 HOURS SHALL BE AT THE PRICE IN EFFECT AT TIME OF SHIPMENT UNLESS NOTED OTHERWISE. QUOTES FOR PRODUCTS SHIPPED FOR RESALE ARE NOT FIRM UNLESS NOTED OTHERWISE.

CONTACT YOUR SALES REPRESENTATIVE IMMEDIATELY FOR ASSISTANCE WITH DBE/MBE/WBE/SMALL BUSINESS REQUIREMENTS.

Seller not responsible for delays, lack of product or increase of pricing due to causes beyond our control, and/or based upon Local, State and Federal laws governing type of products that can be sold or put into commerce. This Quote is offered contingent upon the Buyer's acceptance of Seller's terms and conditions, which are incorporated by reference and found either following this document, or on the web at https://www.ferguson.com/content/website-info/terms-of-sale Govt Buyers: All items are open market unless noted otherwise.

LEAD LAW WARNING: It is illegal to install products that are not "lead free" in accordance with US Federal or other applicable law in potable water systems anticipated for human consumption. Products with *NP in the description are NOT lead free and can only be installed in non-potable applications. Buyer is solely responsible for product selection.

COVID-19 ORDER: ANY REFERENCE TO OR INCORPORATION OF EXECUTIVE ORDER 14042 AND/OR THE EO-IMPLEMENTING FEDERAL CLAUSES (FAR 52.223-99 AND/OR DFARS 252.223-7999) IS EXPRESSLY REJECTED BY SELLER AND SHALL NOT APPLY AS SELLER IS A MATERIALS SUPPLIER AND THEREFORE EXEMPT UNDER THE EXECUTIVE ORDER.





98 Jolly Industrial Park Drive Phone:(859) 261-0319

Project: W

WCWD 9-15-22 Stock

Location:

Woodcreek Water District

Date:

9/15/2022

Bid				Unit		Extended		
ltem #	Description	Unit	Quantity	Cost		Cost		
	3/4 setter VH72-7W-41-33-GNL	EA	200	\$	148.07	\$	29,614.36	
	5/8X3/4 Restter VH42-L5W-NL	EA	30	\$	145.11	\$	4,353.40	
	5/8X3/4S-Tube ST-2	EA	30	\$	45.40	\$	1,362.00	
	2 x 3/4 Saddle S70-2030	EA	50	\$	22.21	\$	1,110.31	
	4 x 3/4 Saddle S70-403	EA	100	\$	35.21	\$	3,521.05	
	6 x 3/4 Saddle S70-603	EA	50	\$	54.24	\$	2,711.96	
	2 x 1-1/2 Saddle S71-2)6	EA	50	\$	57.57	\$	2,878.26	
	4 x 2 Saddle S70-407	EA	20	\$	78.30	\$	1,566.09	
	6 x 2 Saddle S70-207	EA	20	\$	104.63	\$	2,092.67	
	3/4 CTS C/Stop B44-333-GNL	EA	100	\$	73.27	\$	7,327.08	
	3/4 CTS Tee T444-333-GNL	EA	100	\$	48.95	\$	4,894.79	
	3/4CTsx1PEP Cplg C46-34-GNL	EA	40	\$	40.27	\$	1,610.99	
	3/4 MIP x CTS C84-33-GNL	EA	100	\$	17.52	\$	1,751.65	
	3/4 MIP x CPEP C86-33-GNL	EA	100	\$	22.95	\$	2,294.57	
	3/4 FIPx1 PEP Cplg C16-34-GNL	EA	20	\$	31.57	\$	631.43	
	3/4 FIPx3/4 PEP Cplg C:L6-33-GNL	EA	100	\$	22.48	\$	2,247.83	
	1-1/2 Corp Stop FB1102-6NL	EA	100	\$	190.23	\$	19,022.68	
	2 Corp Stop FB1700-7NL	EA	30	\$	244.66	\$	7,339.79	
	2 Corp Stop FB1600-7NL	EA	30	\$	244.66	\$	7,339.79	
	Angle Single Ck Vlv HA31-323-SN-NL	EA	30	\$	40.15	\$	1,204.62	
	6x6 Tapping Band FTSS 700-6	EA	3	\$	670.83	\$	2,012.48	
	8x4 Tapping Band FTSS-905-4	EA	2	\$	652.94	\$	1,305.87	
	8x6 Tapping Band FTSS 905-6	EA	6	\$	721.60	\$	4,329.61	
	12x6 Tapping Band FTSS-1320-6	EA	1	\$	827.49	\$	827.49	
	4x15 Repair Clmp F1-535-15A	EA	10	\$	116.90	\$	1,168.97	
	4x30 Repair Clmp F1-5:5-30A	EA	100	\$	236.61	\$	23,661.22	
	8x15 Repair Clmp F1-967-15A	EA	4	\$	145.38	\$	581.51	

8x15 Repair Clmp F1-939-15A 8x30 Repair Clmp F1-939-30A 10x30 Repair Clmp F1-1144-30A	EA EA	3 3	\$ \$ \$	159.20 355.75	\$	636.78 1,067.25
			+			1,067.25
10x30 Repair Clmp F1-1144-30A	EA	3	5	4 076 00		
			<u> </u>	1,076.90	\$	3,230.71
Sub Total for this Bid					\$	144,390.04
Sales Tax					\$	-
TOTAL MATERIAL COST					\$	144,390.04
		**	-			
֡֡֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜	Sales Tax	Sales Tax	Sales Tax	Sales Tax	Sales Tax	Sales Tax \$

rms and conditions of this proposal are as follows:

is quotation is based on the receipt of the entire list of material. Any deviation could result in price anges.

e quoted PVC Pipe prices are firm for order placement for thirty (30) days from bid date, and pment within thirty (30) days from order. Delays in ordering or receiving shipment beyond this netable MAY escalate prices.

eel Casing Pipe prices are good for 30 days from bid date.

PE Pipe prices are good for 3 days from bid date.

Copper and stainless steel prices are subject to change without notice.

other material prices are good for 90 days.

JE TO UNPRECEDENTED INDUSTRY WIDE PRICE CHANGES FROM MANUFACTURERS AND FRIEGHT MPANIES, ALL PRICES ARE SUBJECT TO REVIEW AT THE TIME THE ORDER IS PLACED AND MAY BE ANGED BASED ON MARKET CONDITIONS AT THAT TIME. THANK YOU FOR YOUR PATIENCE DURING IS DIFFICULT PERIOD OF JOB MATERIAL QUOTATIONS.

tals listed above do no include any items not specifically mentioned in the above scope of material.

e scope of material listed is our interpretation of the plans and specifications of this project. All sterials shall be approved for use by the project engineer and/or water district. Quantities shall be rified and approved before placing an order. Return of any materials ordered are subject to a restock 3.

yment Terms: Net 30 days.

B Terms: Jobsite

xes: Prices quoted are excluding any applicable taxes.

bmittals and drawings: Prices include any required submittal drawings

At NO CHARGE.

e appreciate the opportunity to provide you with this quotation, and hope we may be favored with